> restart

| PROGRAMA INICIAL

> a:=sqrt(2) :b = evalf(%,5); evalf (a, 40); evalf (%%%)
b:=1.4142

1.414213562373095048801688724209698078570
1.414213562

> a; b +0.000000001

V2

1.414200001
> evalf (pi)

> evalf (PI)
IT

> evalf (P1)
3.141592654

> Digits := 10000
Digits := 10000

> evalf(Pi) :
> FEcuacion ‘== x--2 —5x+6=0
FEcuacion :=x2—5x—|—6=0

> Raiz = solve(Ecuacion)
Raiz =3,2

> Raiz1

> Raiz[2]
2

> EcuacionOriginal := expand( (x — Raizl) . (x — Raizz) ) =0
EcuacionOriginal = X —=5x4+6=0
> Ecuacion
X =5x4+6=0

> LadoDerecho ‘= rhs(Ecuacion)
LadoDerecho =0

> Ladolzquierdo := lhs(Ecuacion)
Ladolzquierdo := X —5x+6

> plot(lhs(Ecuacion),x=0..5)
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> FEcuacionDos == t--2 —4-t+4=0
EcuacionDos = —4t+4=0 15s)

_> RaizDos = solve( EcuacionDos)
RaizDos =2, 2 (16)

_> plot(lhs (EcuacionDos), t=0.4)




_> EcuacionTres i=z--2 +2-z+2=0
i EcuacionTres =2 +2z+2=0 a7
> plot(lhs(EcuacionTres),z=-1.0001..-0.9999)
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-1.00010

RaizTres = solve(EcuacionTres)
RaizTres = -1+1 -1—1

Parl‘eRealRaiz1 = Re(RaizT resl)
ParteRealRaiz1 =-1

PartelmagRaiz, ‘= Im(RaiZT resz)
PartelmagRaiz, := -1

PartelmagRaiz, := Im(RaizT resl)
PartelmagRaiz, := 1

-0.99990

EcuaTresOrig := expand( (z - RaizTresl) . (z - RaizTresz) ) =0
EcuaTresOrig := F42z42=0

EcuacionTres
F4+2z+42=0
EcuaDosOrig = expand( (t — RaizDosl) . -2) =0

EcuaDosOrig := f—4t+4=0

EcuacionDos
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I F—41+4=0
;> restart

> fi=x--2-exp(5-x)-sin(2-x)
i f=x"e¢"sin(2 x)
[ > Derivacion = Diff (1, x) =diff (1, x)

Derivacion := %c (x2 esxsin(Z x)) =2xe5xsin(2 X) +5x° esxsin(Z X) +247 esxcos(2 X)
¢

=> Integracion = Int( f, x) =simplify(int( f, x) ); evalf (%, 3)

5x . _ 1 Sx (_ 2
sin(2 x) dx= 24389 € ( 1682 cos(2 x) x~ + 1160 x cos(2 x)

— 284 cos(2 x) +4205 sin(2 x) ¥ — 1218 x sin(2 x) + 130 sin(2 x))
[xz e sin(2. x) dx =0.0000410 &> ( - 1680. cos(2. x) x> + 1160. x cos(2. x) — 284. cos(2. x)

Integracion := sz e

i +4200. sin(2. x) ¥ —1220. x sin(2. x) + 130. sin(2. x))
> IntegracionDefinida == Int( f,x =1 .3) =evalf (simplify(int(f,x=1.3)));
3
IntegracionDefinida := X esxsin(2 x) dx=-2.822316017 10°
1
> plot(f,x=2.3.1)
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¥ > sin(2 x)
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